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GEI
& EEHh Bi XH ENseEE 5B th{E ZE| TR FTEH=E
(kg) (kg) (kg)
KB FE, B 10| #Bxt 7,000 1,512 1,296 864 H# 8, 000
AS (=] 10|  #Bxt 7,000 2, 808 1,944 H 7,000
THITIES M B 4 MExt 2,000 1,944 324 H 8, 000
Hx Rk 10| #Bxt 4,000 1,296 H 4, 000
JK 3 I 0.2 #Bxt 1,100 65 H 1,100
N NES & 0.2 #Bxt 360 108 32 1 H 400
N NES I 0.2 #Bxt 1,000 43 H 1,500
TRy Eogal| 10|  #Bxt 18, 000 1,296 H 15, 000
FO5NAE & 0.2 #Bxt 500 140 86 32 O# 500
o & 5 +1) 1,500 1,944 1,620 1,404 H 1,400
o TR 5 fBxt 1,200 2,160 H 1,200
—2 L AR, T 0.1 ks 1,000 43 H 1,000
JAayaly— AL R, &BE 8| #Bxt 1,600 2,160 H 1,600
LA R TR 10 48t 6, 000 1,836 H 4,000
FoF YA TR 0.2 #Bxt 500 76 A 500
I AS HE. K 5 #Bxt 3, 000 1,620 H 3, 000
i AS HE. K 5| £= 1,500 1,620 H 1,500
RinF EE. 55 0.3 #Bxt 2,500 162 H 2,500
E—<> =, BIE 0.15| #Hxt 4,000 119 A 4,000
HEE TR 5 #Bxt 1,000 2,160 H 1,000
EiHHE BERS 10|  #Bxt 3, 000 4 320 # 5,000
£E¥ A4L, A3L B 100 1) 4,700 3, 780 324 # 5,000
THEFE A4L, A3L B 12| 1) 16, 200 3, 564 324 # 2,400
E# EE 200  AExt 6, 000 4 860 # 5,000
IZAIZKL B 1 1) 1, 000 1,728 756 # 1, 000
EHE =F 0.1 A5t 2,400 86 # 2,100
TJFrA A E¥. B 0.1 AExt 1, 000 92 # 1, 200
TJFHIAT A E¥. B 0.1 £= 30 86 H 30
BRSE 88, 930
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2 EEHh Bi XH ENseEE 5B th{E ZE| TR FTEH=E
(kg) (kg) (kg)
fIEF->R L B 0.25 Y 40 324 302 270 H# 40
fTIEF->R M B 0.25 Y 30 302 270 248 H# 30
#fIFH->~R S B 0.25 Y 10 216 194 162 H# 10
EbLEEDH L B 0.25 Y 40 324 302 270 H# 40
EbBEDH M 5% 0.25 +Y 40 302 270 248 H 40
EbhEDH S 5% 0.25 +Y 20 216 194 162 H 20
INTF mKX. Z4VEY 13|  #Bxt 2,800 3,780 H 390
LEY T AAhH 17| #Bxt 220 10, 800 H 150
Lo T AAhH 17| #Bxt 650 8, 640 H 500
SL—T2IL—Y L3 17)  #Bxt 170 6, 480 H 150

INA T 9T p PN = 10|  #Bxt 390 3, 456 H
RS 1, 370
HBEst 90, 300




